Problem 9-27 — Determine the force in each truss member. The cross-sectional area of each member is indicated in the figure. Assume the members

are pin connected at their ends. £=29(103) ksi.

' aft |

AP 1
1t 4

Dot T -
AR

Eo c Z b

< _
31'1; ‘ = ‘T&C

A D‘(
Py - Lv' C
3/
P Bt
X ﬁ\‘afAB B&:AB
ToINTA
9 4 A +/PZ(+~/=C>
3]/ I—AC 2
Ao A =TersTa
47 Fap = it




Problem 9-27 — Determine the force in each truss member. The cross-sectional area of each member is indicated in the figure. Assume the members

are pin connected at their ends. £=29(103) ksi.

VIZTUAL TorceSs A
B ToINTE - JoNT A<
JoinT B —?Z(FX feo c JrTZ:I"/ :C; fro T 1[Ac ZH —?
{'sv WCEL =-1- 5’:@ 3 > = ’]CEL’_S— AC 5 1 = 7(AD+_">:)C’A‘<’
1 Teo=-175 Al o Yp=-t25 . J =015
JZE =< —->er ] ¥
= j('gc + %%’BD 47 TS AC
f&z o5 7ch -1
deMeee. | F(1) L(f+)  Alw?) F{L/A ( H«%Nz) Hi/a (ﬂ/Nz)
AR & L ! O L
B 4 oW S 1 = [, &7
DA il oI5 E 1 g .67
AcC ] -1.25 5 Z z0.24 3Al
BD O -1.25 5 Z O 34\
&O. \(p <1, 19



3

Problem 9-27 — Determine the force in each truss member. The cross-sectional area of each member is indicated in the figure. Assume the members
are pin connected at their ends. £=29(103) ksi.
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